
PART II 

Plant Physiology 

Note : Question No. 8 is compulsory. Attempt any 

four questions from questions no. 9 to 13. 

8. Attempt all parts : 

(a) Choose the correct alternative from the 
words given within brackets (Attempt 

any two) : 	 2x 1 =1 2 

(i) (K41Na+) is required in large amounts 

to maintain the turgidity of cells. 

(ii) (ABA/Auxin) blocks protein synthesis 

in seeds during desiccation phase. 

(iii) Radioactivity in carbon atoms was 

detected by using (Geiger-Muller 

Counter/Spectroscope). 

(b) Fill in the blanks in the following sentences : 
2x1=2 

(i) Anther culture is useful in plants for 

producing 	plants. 

(ii) 	 plant is likely to flower at 

the same time of the year whether 

grown in the house, field or green house. 
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(c) Define the following terms : 
	

2x1=2 

(i) Vernalisation 

(ii) Senescence 

9. (a) Briefly describe the mechanism of stomatal 

opening. 	 3 

(b) List any four ways by which plants adapt to 

different kinds of stress. 

10. (a) Describe the functions of essential elements 

in plants. 

(b) Explain the functions of the genes involved 
in N2  fixation in root nodules. 

11. (a) Briefly describe the plant responses to 

Light-Dark cycles. 

(b) Describe the effects of auxins on growth and 

development in plants. 	 2 

12. Describe the roles of photosystem I and 

photosystem II during light reactions of 

photosynthesis. 	 5 
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13. Write short notes on any two 	of the 

following : 	 2x2 1  =5 2 

(a) Ultrastructure of chloroplast 

(b) Biological clock 

(c) Role of ethylene in plants 
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